Here is the algorithm:
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1.

Supply the values of jz9. 0, 1 and 7.

2. AsATS; neverexceeds ATSy. assign the value 7 to ATS; and m (the minimum

value of ATS; ever attained) and unity to the group size n.

3. If n > my, terminate the search procedure and print the results; else move to

XN s

the next step.

Assign the value 0.01 to k.

If k£ > 3, move to the Step-13: else, move to the next step.

Compute Py, Py, ag and o1 using the formulae (4) and (7).

Initialize L to 1.

If L exceeds 20,000, go to the Step-5 after increasing k by 0.01; else move to
the next step.
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If ATS; exceeds m 1, move to Step-8 after increasing the value of L by unity.
If ATSo is less than 7, move to Step-5 after increasing k by 0.01.
If ATS1 < my, assign the value of ATS; to my, ATSg to mo. n to nssg. k to
kssg» and L 10 Lggg, increase L by unity and move back to Step-8.

. Increase n by unity and move back to Step-3.




